SV Eou DBDA-VA
SERVICES

This test is in two parts, each timed separately.

In PART I, first look at the word in capital letters, Then, from the five words that follow, find the
one that means the same thing as the word in capitals, and mark that answer in this booklet, in the

box given below,

An example follows. Mark the correct answer on your booklet in the box for EXAMPLE X,

EXAMPLEX :

ATTEMPT : a. hit b. try c. falter d. walk e. quarrel
u a 0 Q Q
Since ATTEMPT and TRY mean the same thing. b. try is the correct answer. Therefore, you
should mark x in the box below *b' in the booklet.

In PART IT, first read the saying or proverb in capital letters. Then, from the five sayings under
it, find the one that means the same thing, and mark that answer on your booklet.

An example follows. Here also, mark the correct answer of Example Y,
EXAMPLE Y :
LET ANOTHER'S SHIPWRECK BE YOUR GUIDE AT SEA

a. one man’s meal is anothcr man's poison
b. ships fear fire more than water

¢. wise men leam from other men's mistakes
d. the worst things happen at sea

€. chart a careful course

D0ODOD

Since LET ANOTHER'S SHIPWRECK BE YOUR GUIDE AT SEA means about the same thing
as WISE MEN LEARN FROM THER MEN'S MISTAKES, you should mark ¢ on the booklet.

Waqudcﬂyandmnmmlyu you can on both parts. You will have 4 minutes for PART I and 3 nuinules and
30 seconds for PART I1. If you are not sure of the right answer for an item, mark the choice thatis your best guess.

When you have finished PART I, please STOP, do not tum 10 PART 11

' PLEASE WAIT FOR THE INSTRUCTIONS TO START.

e E—

» Copyright 01992, by the PSY-COM SERVICES.
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. FAST:

DECEIVE ;

EXCESS :

BELIEVABLE:

CONTEMPLATE :

DBDA-VA PART-I

a. old

a. blunder

a. wasle

a. admirable

(4 minutes )
b. rapid ¢, slow d. early
Q 0 5]
b. obtain ¢. conceal d. mislead
a a 0
b. departure . surplus d. tax
u] a Q
b. real c. personable  d. unlikely
Q o s]
b. advance c. meditate d. rest
] a a
b. humorous  c. healthy d. convincing
a a a
b. turbulent  ¢. calm d. spinning
] Q a
b. illusory c. magical d. visible
a =] o
b. musical c. dancing d. unpredictable
o o a
b. indiffercnt  c. pitiful d. concemed
Q Q Q
b. loving c. casy d. interesting
a Q
b. beautily c, arouse d. plasticize
\ Q ]
safe c. tribal d. open
8] Q
stale c. persecute  d. defend
Q Q
. inquire c. instill d. compute
Q : (8]

Scanned by CamScanner

e. clear

e. equatorial
c. clever

e. strenous

e. appease

e. healthful

€. accusc

¢. acquire



16,

17

18.

19.

o

DBDA-VA PART II

(3 minutes 30 seconds )

STRIKE WHILE THE IRON IS HOT 21.

() a. Take things as you find them
b, Hot love is soon cold

0 ¢. Make hay while the sun shines
0 d. First think and then speak

0 e. Look before you leap

IT NEVER RAINS BUT IT POURS 22,

Q a. cloudy momings tum to clear evenings

O b. misfortunes never come one at a time

0 c. easy come, easy go

0 d. the least predictable thing in life is the weather
O e. every cloud has a silver lining

LET SLEEPING DOGS LIE 23,

as you make your bed, so you must lic on it
do not keep a dog and bark yourself

O c. there will be sleeping enough in the grave

O d. never look for trouble; let trouble look for you
O e. an old dog does not bark for nothing

Qa
Ohb.

THERE IS NO VENOM LIKE THAT OF 24.

THE TONGUE

O a. the tongue of an idle person is never idle

O b. alking pays no toll

0 c. few words are best

O d. words cut more than swords

O e. bad news travels [ast

ITISALWAYS DARKEST BEFORETHE DAWN

() a. the longest day means the shortest night
[ b. what is done by night appears by day
O ¢. he who runs in the dark may wcll stumble
O d. he who groupes in the dark finds what
he would not
O e. when things are at the worst they will improve

ALL THAT GLITTERS IS NOT GOLD

0 a. don't judge a book by its cover

O b. all men can't be masters

O c. gold dust blinds all eyes

( d. money is the root of all evil

0 e. riches alone will not make a man happy
TOO MANY COOKS SPOIL THE BROTH

O a. oo much praise is a burden

O b. 0o much consulting confounds

O c. truth needs not many words

O d. actions speak louder than words

O e. when needs is highest, help is nighest
A STITCH IN TIME SAVES NINE

0 a. it is never o late to mend

O b. time cures all things

Q c. prevention is better than cure

0O d. take time while time is, for time will away
Q e. it is no use crying over spilled milk
LITTLE STROKES FELL GREAT OAKS

O a. step after step the ladder is ascended

O b. great strokes make not sweet music

0 ¢. tall oaks from little acoms grow

( d. oaks may fall when reeds stand the siorm
Q e. litte things please little minds

STOP. PUT YOUR PENCIL DOWN. DO NOT TURN BACK TO MAKE ANY CORECTIONS.

L
Subject's Score Raw
e T Pant-1 =
e Pat-1l -
3mpﬂﬁ - e i
o Toal = 8~ el
. Sten =
g-__lt_'. i

FOR EXAMINER'S USE ONLY :
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PSY ~COM

SERVICES DBDA-NA

This test is made up of short number problems. Each problem is followed by five choices. You are 1o
choose the correct answer and mark iton your booklet, Work as quickly and accurately as you can, Two examples
follow. Do them for practice. Do any figuring on the ROUGH WORK box given below. Mark the correctanswers
on this booklet, by putting a “X" mark in the box given under each choice.

EXAMPLE X:
ADD: 47 a. 231 b. 241 c. 153 d. 261 c. 243
194 o o 0O O O
EXAMPLE Y:
1.1 _ I 3 3 1 1
2"a ) “3 b3 &g %3 9
o o o O O

ForEXAMPLE X, the correctanswer is b. 24 1, so you should fill in the box b on Your this booklet for EXAMPLE
X. For EXAMPLE Y, the correct answer is C. % 50 you should fill in the box c with a *X".

Work as quickly as you can to finish as many problems as possible. You will have 5 minutes 30 seconds. I }'Ou'
are not sure of the right answer for a problem, mark the choice that is your best guess.
When you have linished the problems, please STOP, Do not turn to other pages.

ROUGH WORK

PLEASE WAIT FOR THE INSTRUCTION TO GO FURTHER

Copyright © 1992, by the Psy-Com SERVICES.
All rights reserved by the Psy-Com SERVICES, B-4, 80/2, Safdarjung Enclave, New Delhi-110029 (India)
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. Subtract.

. Multiply:

. Divide:

. Multiply:

41
N

967
435

974

7W2226

253

a, 230

2,552

a.2822

a 318

a. 5050

b. 218

b. 532

b. 2582

b.316

b. 5060
D,.

b. 234

¢. 200 d. 220 e 219
&
c.522 d. 531 ¢.523
n =}
2922 Cd.2893  e.2904
a O O
c.324 d. 326 e.213
O O O
c.4760  d.4750  e.40S0
O O O
€. 235 d.225 e. 325
0 O O
4 1 9
[ 15; d. l.’ri-a e, 15-1-6
O O
c. 120 d.0.12 e 1S
O O
c. 2240 d.22.26 e. 26.10
O O O
c.70 d.72 e. 60
O O O

PLEASE GO ON TO THE NEXT PAGE ...
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2x(25-19)
v

d. 1= e 2

(] O O O O

| B
=
=
| —
n
—

]

S~
| b2

12, Whrch one of the numbers below could
replace X in both places in:

4+ X=06-X? a4 h. 3 c.2 d. 1 e-2
] O O O
7 - 19 7 11 11 7
13, = —_——-—=]= b e — , 2— o et
3 3“(10 5)—_ ) h‘dﬂ c.1 dzm ¢ 25
O O O O O
3
14, Subtract: ]SE
2 1 5 1 11 5
= - = — 6—
S SLL L L B
O O O O O
15. 125%of32= a. 6 b. 12 c. 36 d. 52 c. 40
O O O O O
16. /196 - a. 14 b. 16 c.24 d. 36 e. 98
O O O O O

7. %ar 4S= 4165  b175 <185 d.207 e. 343

E)
a
a
O
a

1 1 2 1 5
I.E b.i C.-g- ili EE
O O O O O
I.% b.-z% c.g ¢§ e 1-
O O a O O

5 5 1 8 7
&IE bﬁ :.3; IL; t.;
O O O O O

ENCIL DOWN. DO NOT TURN BACK TO MAKE ANY CORRECTIONS.
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FSY oM
SERVICES DBDA-CA

In this test, you will see a word at the leltside of the page, with parts of the letters missing. This “incomplete” wor
is followed by five “jumbled” words, You are first 1o use your imagination to figure out what the incomplete worl
is. Then find, among the five scrambled choices, the one that has the right leuers to spell the incomplete word.
Look at the following example :

£~ e
— o a. chrsu b. recsu c. osher d. roesc ¢. rise

You would first look at the incomplete word on the leftand try to figure out what the word is. When you see that
the word is score, you look at the five jumbled choices on the right and see which one contains the letiers of the
. word score. The correct answer is d. roesc, Nonc of the other four has all the letters in the word score.

Now try another example. This time mark *x* your answer in box below the correct answer. Work as quickly

as you can.
EXAMPLE X ;
lact e
Qw. ] | a. ridead b. trlawe ¢. cdtroo d. urldde ¢. urderd
a | a .| Q

The word on the leftis ladder, and only choice a. ridead contains all the letters in the word ladder. Therefore, you
should mark “x" in the box below a. ,

PLEASE WAIT FOR THE INSTRUCTIONS TO START.

ght ©1992, by the PSY-COM SFRVICES.
lmmcas B-4, 8072, Safdarjung Enclave, New Delhi - 110029 (India).
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"~
. b cemw a. rodba b. dnbra c. aibnr d. radeb ¢. bneas
] Q Qo
=l"
2 [ | =XS a. sisleln b, nselsu ¢ rsipmes d. drusens e, ruseds
Q Q Q
3. WV .0 e "I"I a. lowilw b rdweno c¢. dwowni d. nawred e¢. nidrem
8] a a
U T ot ! ; -
4 & Lee we a. rgaon b, gapna  c. lpano  d. ginaa e. garin
a @] o
» ; :
s. £ a"!’ it a. rygzeran b. ezcymai c. izonrega d. yezirdan e. nyoneiza
0 & | 0
yr oy . . .
6. P | A, onimr b. mimor c. lermi d. rmuro e. ulrre
a a 0 3 Q
twahc ¢c. lovma d.  twckei e. berbru
o d
aesrfcu ¢, dscucee d. sdsaces ¢ pssrepus
a ] Qa
gdalein ¢, Inoadgi d. nlginae e. Ididacne
(] (] (]
tknfa c. cilka d. efrla e alnfk

 PLEASE GO ON TO THE NEXT PAGE......
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v L]
11. -k r lln-u a. leorfma b, altnemni ¢, aintmlne d. letanirm  e.  faclrimr
0 0 8] Q O

q..-'=--— —_——

12, & - ===ww | a demccee b, condiunce ¢. ndeucaei d. enoduine e. codncnie

] d Ll a
@ YV . ;
KA a. lioyl b ghji  c yegh d eyjil e lylj
u 8] U
- & _
14, n\..u ol ! a. hytrme  b. amgienn c. meyinan d. ylnmeai e¢. lychaht
a EI a 0 g
Vo)t
15. | i J a. wsepen b, pnesaa c¢. patsran d. psarmmet  e. Lmoasp
Q Q
16. wres sw = a. hcicn b. issgh c. nices d. hnies ¢. ncaih
U a Q

: | .
17. b" 1'1 ‘r & a. cmlignba b. abcorlig c¢. grmlaigh d. mbigagnl e. lirggamn
E {

¢. raem d. yllauble e. nocraa
0 0 8]
¢. acmaer d. oanc e, fornca

c. pglarin d. tinono  e. nligon

JRN BACK TO MAKE ANY CORRECTIONS.
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PSY oM

SERVICES DBDA-SA

In the following pages, there are drawing of all kinds of figures, and you have to imagine
them in different positions. In each row, left of the vertical (up and down) line, there is one
“ tigure-called "Sample Figure' The Sample Figure is followed by six *Test Figures®. Some of
the Test Figures will be the same as the Sample Figure but just turned "around®. For
example, here area some which are the same
S=the same (only turned around)
SAMPLE FIGURE TEST FIGURES

o , a8
\// z el
NOTE: The Test Figures are the Sample Figure turned around.

Some of the Test Figures will be reversed from the Sample Figure; that is they will look like
the Sample Figure would look if it was turned "over®. In some cases, the Test Figure will be
turned "over® and turned "around”; cther times it will just be turned over. For example, here

are some Test Figures that are reversed:

R = Reversed (or turned over,
SAMPLE FIGURE TEST FIGURES

R

Note: Here the Test Figures looks like the Sample Figures turned over, or turned over and
then turned around.

If a Test Figure is the same as the Sample Figure, fill in the S box for thal number, given
m the Sample Figure, fill in the R box for that number, given

below the figure reversed fro
below the figure

Examples: The following examples are like those you will find on the next pages. The answers
for the examples are marked for you. Look at each one of the six Test Figures-X1 to X6-below,
decide whether it is the same (S) or reversed from (R) the Sample Figure, and then check your
answers with those that are marked. Remember, some of the six will be the same, but turned
around. Others will be reversed or turned over and, in some cases, then turned around. \

SAMPLE FIGURE TEST FIGURES

SR SR SR SR SR S R
RO XOR BOR XMRO XBOR  X6CRO

Notice that Test Figures X1.X4 and X6 are the same as the Test Figures. They are simply the
Sample Figure turned around. X2 X3 and X5 are reversed from the Sample Figure. In X2, the

Sample Figure was only turned over,and in X3 and X5, it also lurned around.
PLEASE GO ON TO THE NEXT PAGE....

S — =
Copyright © 1992, by the Psy-Com SERVICES.
All rights reserved by the Psy-Com SERVICES, B-4, 8072, Safdarjung Enclave, New Delhi-110029 (India)
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So in this booklet, you see the S (Same) box marked for X1.X4 and X6, and the R (Reversed) box

marked for X2.X3 and X5

ry another example, marking your answers in the Example Y1-Y6 box on the booklet. Work as

Now I
quickly as you can,

SAMPLE FIGURE TEST FIGURES

>SS DO OUF

SR SR SR SR SR SR
VRO Pox YBox Hxo BHOX Y6, O

rned around), so you should have
he Sample Figure turned over and
should have been fillec in

Test Figures Y3.Y5 and Y6 are the same as the Sample Figure (tu
filled in the S box for these examples. Figures Y1.Y2 and Y4 are t
you see that Y2 and Y4 are turned over and turned around. So the R box

for these examples.

Sample Figure and six Test Figures in each row, as in the
the first row, go right to the next row and do the next
h row until you finish, or until time is

On the next pages, there will be one
examples. After doing the six items (1-8) in
Test Figures, with a new Sample Figure. Continue to work eac

called.

Be sure to mark S or R for each of the six Test Figures in each row. You will have to work very
quickly to finish. If you are not sure of the right answer for an item, mark the choice that is your
guess. If you finish before time is called, please STOP. Do not turn to other pages.

PLEASE WAIT FOR THE INSTRUCTIONS TO GO FURTHUR.
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REMEMBER : 8 means the same but turned around,

R means reversed or turned over and tured around
Ef{fféfs_ TEST FIGURES *
(X< ? K] M N2y
SH SR SR SR
| 1 2 SIZID 6
7112 ii ® Qg @ @ ﬂ %:5
el g .88
A %QF F QQ E
SH SR
13 1¢ EIIZI
19 24& !£> | | <|:| J i
SH SH
| AT
zm& } % ; ﬁ
- i
a3 E;_oi TR
| ueh g u$ sfh sff
oel. IiwT g ' PLEASE GO ON TO THE NEXT PAGE ...
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SAMPLE
FIGURES

TEST FIGURES *

;”$¢NX*

? DO
4 (0] X
y SR SFl SFI 4:59 425“
3742 STDD 0 39 40
]
43.48. 435[31 SSR 6 sﬂ 4BSR

ﬁ

-i-‘

%)

4 SR H 52 SH 53 SH
49.-54. 49 %E] 0. 50
N o
<- b <> P 2
1‘b q‘ BN g/ /e e/ DR
SR SR SR
5560 B8R 558 %58 %5 Fpoo . Moo
jé SFI.
6166 aSf @8 wff efh %gn ®p0
6172, ' SR , SR g9, SR SR SR 'SR
RN D ®5p "0p oo oo
A

!M&ﬁﬂrﬁi’?@amm.mnm NOT TURN BACK TO MAKE ANY CORRECTIONS.

rs [
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DBDA-MA

SERVICES
Name - ™= Date;_
Age, e — Seer
Class/Occupation ) - —
Ph

Address .

marking one of the five choices given. Sometimes there will be a

sometimes not. Some

X.Y,and Z
GEAR X

EXAMPLEX ;u3_‘-'f1,<
i .

®
L{,} f ._®_ PLATE @-

(’
e W T N N R e B Fy i L
"_._I"'._,I_I__._J-L_,J_\_I'_LJ__J' Ty Y Sy Wy 8 U g T U N oy Wy B g
If gear X 1s locked in its place, but can turn, and is turming in the direction
of the arrow, which way is the Plate moving?

a A d. first B, then A
b B e the Plate is not moving

e first A, then B

EXAMPLEY:
Which 1s this tool?

a wrench d phers
b. pipe wrench e clamp
€ SCISSOrs

EXAMPLE Z:

Any material that electricity will pass though is called a(n)

a. insulator b, magnet ¢. transformer d filament e conductor

e box for EXAMPLE Z.

before the time is called, please STOP and do not turn to other pages

Find the space for MA on your Answer Sheet or mark your answers in this booklet. Do as
directed In this test, you will answer questions about mechanical facts and principles, by
picture with the question,

examples follow. Mark the correctanswers in the boxes for EXAMPLES

Mark Your
Answers Here

O=
Oe
O~
Oa
On

O=
O
On
Oa
Oe

abocde
OOO0OoOoa

The correct answer for EXAMPLE X is a_, since the plate would have to move indirection A
For EXAMPLE Y, the answer is d. pliers, and for EXAMPLE Z, the answer is €. conductor.
Therefore, you should have filled in the a. box for EXAMPLE X, the d_box for FXAMPLE Y and

Work as quickly as you can. You will have 9 minutes for all the items on this test. [fyou are
not sure of the right answer for an item, mark the choice thatis your best guess. If you finish

PLEASEWAITFORTHE INSTRUCTION TO START )

Copyright ©1993, M/s PSY-COM SERVICES. All ights reserved by the W/s PSY-COM SERVICES, B4, 80/2, §.J. Enclave, New Delhi-110029.

Ph. 606 433,
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Ma

1. s On what materinl would thig olised be used”! Mark Your B
K_) n. metal d wood Answers Here
— h cement e gloss a b c d e
/ e plastic Oooooon

b
If the gear on the left tums in the direction
of the arrow, which way does the gear on
“A  he right tum?
nA d alternately B and C
b H e. the night gear does not tum a b ¢ d ¢
c U ooo0oaao
3
What 15 this tool”?
a dnll d soldering gun
b welding torch e buming tool a b c d e
¢ paint sprayer OoOoogao
4 A device that does the same thing as a fise does is called a(n) ab c d e
a circuil breaker b, resistor ¢ relay d alternator e voltage regulator oDooOooao

& In which of the following situations is the least force needed at the arrow,
to balance the lever?

" A [B] ¥ B [E] ¥ c  [&] |

A A A a b ¢ d e
a A b B e C d Aand C e Band U ooOooao
6 ¥ Highway
D Where should the highway be elevated or raised?
/’ —_——— ——— aA d D
: b B e kB a b c d e
|G E e C - ooooao

GO ON TO THE NEXT PAGE.......
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Ma

>

waLl Mark Vuur__
Answers Here

SUPPORT .
s \\ \\

SHELF
al S \\x_ \
i A el D
Which of the shelves will support the greatest weight? a b e de
a A b B c C d D e. they will all support the same weight ooooag

.—\A
€ @ @) ; f@ ~ GEARY

L} c
‘?') GEAR X B

‘1'1"1 At r-Lr\:\r 2{4\;\}

If Gear X 1s turming in thé direction of the arrow, in what direction and how fast

is Gear Y turming?

a. in direction A and the same speed as Gear X
b. in direction A and faster than Gear X

¢ in direction B and slower than Gear X

d 1n direction B and the same speed as Gear X
¢ in direction B and faster than Gear X

)

O=
O=
O~
O=
On

. Powdered graphite is uscful as a(n)

Os=
O
0=
O=s
O=

a. adhesive b. thickening agent c. fuel d. lubricant ¢ conducting agent

A B C
Which shaft is turning fastest?
a A b B c. C d Aand C

O=
Oc
O=
D=
O=

e. they will all move at the same speed

GO ON TO THE NEXT PAGE.......
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Mna

11.In which of the following lists are the four metals arcanged from hardest to softest? Mark Your

Answers Here

a. steel, copper, won, lead d. iron, steel, lead, copper
b. steel. won, lead, copper e, steel, iron, copper, lead a bede
Oooogao

¢ ron, steel, copper, lead

12 In what direction and how fast 15 Wheel

A B T X turning as the Treadle moves in the
/ “ix H\\_ P
s .

WHMEEL Y .
4 direction of the arrow?

WHEEL X

a direction A and faster than wheel Y
b. direction A and slower than wheel Y
¢ direction B and faster than wheel Y
d. direction B and slower than wheel ¥
¢. direction A and the same speed as

Ow=
Oz
On
Oe
O~

wheel Y
TAEADLE
B ¥

13. A basic par. of many thermostats is

a. a knife switch d. an electromagnatic relay

b a bimettalic stnp e a pholo-sensiive activating device a b c de

¢ a spring-activated relay gooooao
14 What do we call the part of this tool that

is marked with an X?

~ a. bit d reduction gear
,./’,:"::'_ b. housing e key a bec de
\ ¢. chuck e Qe n
15, This tool is used by a mason for:
a. making holes d. examinng the stnghiness of walls
b. measuring thickness of walls e. wnting on the walls a b c de
oOooooano

¢ cementing bricks

i6. AL ~utomobile carburetior

a. provides a coupling between front and rear wheels
'b. changes direct electrical current to alternating current
c. allows the rear wheels to turn at a greater speed

d. converts the up and down motion of the pistons

e. allows the mixture of air and petrol

O=
O=
On
Oe
O=

GO ON TO THE NEXT PAGE.......
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Ma

Mark Your

17 The Shaft in the picture cannot move
Answers Here

from one side to other, but it can turm
As the shaft is tumed in the direction
shown by the arrow, which way will
the gear turn?

a A d. first A, then B
b B e. the gear will not turn | & b ¢ d e
c. allematively A and B gooaoao
18. R = RESISTOR
RI
MN—— —
Power = Ponwer = = R2
Supply t;RE [S“WQ = K =
| ] ]

In which circuit is the voltage always the same across each resistor, regardless of the values
of R1 and R2?

O=
O«
On
De
On

a A b. B c bothAand B d neither AnorB e it depends on the resistance

After hitting the black coin, which way is the striker likely to

19
go on the carom-board?
a A d D
b B e. it will rebound a bcde
c. C ooooo
20. < & Coinm 5 OO
/'——_-\ If same kind of coins are dropped in these
N S two beakers, which coin will drown faster?
A B a A d. coin in beaker A will float
0il Water b.B e coinin beaker Bwill float | a b ¢ d e
© © c.bothm’llukcequlllim ooooo

GO ON TQ THE NEXT PAGE.......
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21. Which of these wooden boxes 15 the heaviest?

Mark Your
Answers Here

B
d. all are equal in weight
e B and C arc the heaviest

nos
N>

22. Which of these shelves will hold the maximum weight?

T R T AR

ey

b. All will hold equal weight
e. A and B will hold same weight

a A
b B
e C

| |
23. How wall figure X will look in the mirror? Choose from the figures given below:

X A B C D E

Os=
Oe
O~
O
On

0=
O=
Onr
Oe
Oe

O=
O«
On
Oe
On

GO ON TO THE NEXT PAGE.......
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Ma

— #
24 Which of these glass will break casily when poured with very hot lequid?

Mark Your
Answers Here

a A d. both can retan the hot liguid

h B e hot liquid cannot be poured in A | b ¢ d e

¢, both will break at the same time ooooo
A B

Find out the mussing number?

Os=
O=
On
Os
0=

1 a 17 b2 e 32 d R e 40

END OF TEST

Scanned by CamScanner



TSYYCON DBDA-CL

SERVICES

Name: - __Date:
Age: Sex:

Class/Occupation:

Address: Ph:

r ; ~y & . . ™
r Find the space for CL in your Answer Sheet or mark your answers in this booklet. Do as

directed. The next page contains 72 pairs of letters or numbers, which are cither same or
different. If the pair is exactly the same, you arc 1o ma rk the S box for that. If the pair is

different in any way, you are 16 mark the D box.

| Look at the examples given below. Mark an S box if both the parts ol a pair are the same

for that example. Mark the D box if the parls are different in any way.

I

EXAMPLES:

U. TRSPUVGY TRSUPVGY E] [ﬁJ

V. 10295364 10295364 5] [D]
W. Imjarpb Imjarpb ] [D]
X. 73642519 73462519 E @

) parts of each pair were the same, you should have

Since in EXAMPLES V and W boll
XAMPLES U and X, the parts of each pair were

marked S box for these examples. In E
II different, so you should have marked the D box for these two examples

.

r

The idea is to sce how quickly and accurately you can decide whether pairs are the same

ordifferent, so work as quickly as youcan withoutsacrificing the accuracy. If youare notsure
of the right answer for a pair, mark the choice that is your best guess.

If you finish before the time is called, please STOP and do not turn to other pages. IW
o PLEASE WAIT FOR THE INSTRUCTION TO START
O — — —-—"’_J

Copyright ©1993, M/ PSY-COM SERVICES. All rights reserved by the M/s PSY COM SERVICES, B4, 802, 5. Enclave, New Delhi-t 10 d29.
Ph: 606 433.
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REMEMBER: S = Same; D= Different

(2]

12.

13,

14

15.

16.

7

18

e

1013295

kigpdisu

79318453

KLSQALEPD

pdesqidt

JORASMNIP

RMAFPIQUYV

Jnlipdi

39412675

Jlnvoprdi

3645179

KRINQUSR

VFGARTUX

732837914

JVOPIMURA

bxvinygru

784513962

ARQULEWVP

— e

1012395
krqpdisu
79318435
KLSQAEPD
pdesqudt
JORASNMP
RMAPIQUV
Inluvpdi
59412765
Jlvnoprd
3645179
KRINQUSRK
VFGARUTX
732387914
IVOPIMURA
bxvinygur
784513926

ARQULEVWP

[S]
(5]
(8]
[S]
8]
[S]
[S]
(]
(5]
5]
(5]
[5]
[S]
5]
[S]

E B BB EBEEEBEBEBEEEBEEEB B 8 8

19

20

b
o)

25

26.

28

29

30

il

g

33,

34,

39

i6

mnovpryde

793148252

. XYBWUTYR

zrmpfdgh

B25731496

HUMPRJIEQ

derpgmljn

592614826

PDLMARQUJ

igrspdelm

JMNVLIPAL

13826574

cpdekrsgb

AXPRWNBG

294733506

CDJLQRSKN

reqlm)xap

ZYBMOPRQS

mnovprdye S

793148252
XYBWUTYR [§]
2rmpfgdh S

825731496  [§]
HUMPREJQ
derpgmln @
592614286 [S]
PDLMARQUI [§]
igsrpdelim
IMNUVPAL  [§]
913826574
cpdekisqb

AXPRWNBG  [§]
294733506
CDILOSRKN [§]

(5]

ZYBMOPROQS E

reqlmxjap

B B B B B B B

E B E

E E

B B B B B B

PLEASE GO ON TO THE NEXT PAGE
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REMEMBER: S = Same; D= Dillerent

|

37

38

39

40

41

42

43.

44

45

46.

47.

48.

49.

50.

51

52.

53.

3814569

gmlavwn

ERYNODFIP

187935824

NMRAPCUH

fvbosdm

631425719

TRCHLMOV

cgierdu)

DNWLRVAX

hijuvmlpr

GVAPORIM

81423596

KIRJSBMO

oqxjarpd

64937215

XBAJZPOR

qzbrsaqt

3814659
qmlavwn
ERYNODFI
187953824
NMRAPCUH
fvbosrdn
631425719
TRCHMLOV
cgiedru)
DNWLRAXV
hijuvmlpr
GVAPORIM
81243596
KIRJSBMO
oqgxjaprd
64937215
XBAJZPOR

qzbrsaqt

[S] [D]f 55 63495712 63459712 D]
[S] [Dl|| 56 PMAZRSTQE PMAZRSTQE 5] [D]
[S] [D]f 57 bexpudef bexpudef D]
[S] [Dl|| 58 51936247 51936247 ] [o]
[S] [D|l 59 IXRASPUV  IXRASPVU [ [
[S] [Dl|| 60 dmpewye drepwye s] [
[S] [p]| 6! 4562908 4569208 [S] [p]
[S] [Dl|| 62 MDACPURN MDACPURN [S] [D]
[S] [D]|| 63 !mnrdopsa Imnrdapso 5] [p]
[S] 64. 271659325 271695325 [S] [
[S] [Dl|| 65 IPRSABIM IPRSABIM [S] [p]
[S] [D|| 66 brpdavul brpdauvl ] [p]
(] 67. 91352748 91352748 ] [
(s8] 68 KRIMNFOJ KRINMFOJ  [S] [D]
[S] 69 61825739 61825739 [S]
[s] 70. MPORSINV ~ MPORSINV  [§]
[S] 71. rbapdnuz rbapdnuz ] [l
[S] 72. LKUVMPOZ LKVUMPOZ [§] [D]
=
END OF THE TEST
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TEYXCON DBDA-RA

SERVICES

Name it
Age ) Sex
Class/Occupation: Pp— —
Address o . Phis
f{ Find the space for RA in your Answer Sheet or mark your answers in this booklet. Do as )

directed On the next page there are 12 rows of letters. [n each row, you are to look at five sets
of letters. Four of the five sets follow a certain rule. One set does nat. Onyour Answer Sheet
(or this booklet), you are to mark the letter of the one set that does not follow the rule

Look at the following example
a. BBLJ b, TTRU c. FWZP d XXBK e. MMEO

Here you see that in four of the sets, the first two letters are the same. In the other one,
c. FWZP, this rule 1s not followed, so the correct answer to this example 1s ¢

Please note that the rules are not based on sounds, shapes or types (vowel or consonant)
of the letters.

Now try another example

EXAMPLE-X:

a. ABCD b. GHIJ c. LMNO d QSRT e. VWXY
In four of these sets, the letters follow one anotherin alphabetical order. However, in one
set,d (OSRT, thisis not followed, because the S and R are notin the right alphabetical order
Therefore, you should have filled in the d. box on your Answer Sheet (or this booklet)

Work quickly to finish as many items as you can. You will have 5 minutes If you are not
sure of the right answer for an item, mark the choice that i1s your best guess

If you finish before the time 1s called, please STOP and do not turn to other pages

PLEASEWAITFORTHE INSTRUCTIONTOSTART

.

Copyright©1993, M/s PSY-COM SERVICES, Al rights reserved by the M/s PSY-COM SERVICES, B-4, 80/2. § 1 Fnclave, New Lishi-| 10029
e Ph 606 433, ;
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KA

1. an DEFD h. REMR . SIS . TVWT e GBIBK
- | =

2. a. XFGX b, BILMDB . KORK . YIS e. MIY/ZAM
0 |

3. a FGHE b. LIKH c. LMINP . RSTO e. VWXL
N | | 0 ]

4. a. EDIN: b. 1HIL) c. NMMIO) d. ROOS e. TSSIH
(] | []

s a VWVT h. SVWWV c. VWVR d. OVWWV e. VWPV
O O] [ ] ]

6. a. CDED b. LMOM c. PQROQ d. STUT e WXYX
L O] [] ]

7 a. RYAA bh. BBRG c. RINC d. DDRD e. RLEE
O B ] O '

8. a. ORAR b. PGRR c. RBVR d. RRUH e. LRIX
(] L] [ | 5]

9, a. DECG b. JKII. . MINLLOY d. QRPS e UVIW
0 O O | i

10. =a BCFF bh. GHKK c. KILNN d. Y e. VW7
O O L] ] [

11. a. OGFJ b. EIHI. . GIUIN . IMNR e. MOPT
O O [ ] [

12. a HGFC b. KJIIG c. NML1 (. TSRO e YXWT
0 O O 0 []

= =
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VoM DBDA-PM

SERVICES
Name _ SIS - __Date
Age. . Sex:
Class/Occupation i ———— ——
Address: Ph
(@ In this test, you are lul draw lines on a page full of figures just like this _1“
(]

Working as guicklv and carefully as you can
(1)draw a line frechand all the way around between the outer and inner squares, and then

(2)draw a circle around the dot

EXAMPLES: (=
A [@

1 Be careful
(1) not to let yoar line touch either of the squares or the dot, and

(2) tomakethelines complete, thatis, go all the way around between the squares and

around the dot.

The foll.swing would not get a point becausc the line either touched one of the squares or the
dot, or it was incomplete.

FEEEDE |

Don't use a ruler to draw the lines. All pencil marks must be drawn frechand Finish cach
Aeure completely before going on 1o the next one. Please note that erasers are not allowed

P A

m this test.

Your score will be number of figures with correctly drawn hines, so you should do this test as
fast as you can without making errors

EXAMPLES:

For practice, do the following examples as quickly and accurately as youcan Y ou will have

H 30 seconds.
[+] [+] [¢] =] [*]

Make sure you have a sharp pencil ready. Ifnot, sharpen the pencil before vou start this test
Youwillhave § uminutes for doing this test

14 PLEASEWAITFORTHE INSTRUCTIONTOSTART .,-
CopynghtO1993, M/s PSY -COM SER CES, All righty reserved by the MsPEY.COMSFERVICES, It 80 28 TP nctave, Soow 10 2

Fin: 6006 433,
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&l

l_é]_\

o]

29

36

43

S0

57

o4

3]

[o]

(=]

o]

16.

30.

37.

44,

51.

58.

65.

10

24

il

38,

45.

51

56.

25

39

46

52

60

67.

END OF TEST

a

(2]

33

40

47.

53

6l

68,

13

20

i4

41

48

514

-62.

6Y
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Occupation:

Date:

CA

&0 = a0 =0 =20 =20 =0 =0 =0 =0 =0 =0 =0:-=0 =0 =0 =0

=0 =0 RD_RDHDRUHDRDHDRDRDRDRURDHDRDHDRDRDRDEDRﬂuﬂM
Hm .\m #0 »0 «O »0 =0 =0 »0 «0 =0 =0 =0 -Q w0 0 »0 »0 =0 «0 «0 «0O =3 ....m
| ¢ ¢ % ¥ § % € § € ¢ ¢ ¢ 3 ¢ -£€ © ¥ & E & B M
«wJ =0 ’ 2
- o >0 =0 >0 =0 =0 =20 =0 =0 =0 =20 =0 =0 =0 >0 0 =0 <0 =0 =0 =0 =0 (| =
._“ - = -0 -0 -0 »0 -0 -0 »-0 »~0 »0 =0 =0 =0 =0 =0 <0 «0 «0 SD_ \D \.n Wﬂ 2
% w“.m_ £ £ 3 = d g # £ £§ B B 2 §8 5 8 8 3 = 5§ § ¥
= =
.w...... 8 RDRDRDRDRURDRDRDRDRDRDHDRDRDRDRDRDRD.RDRUﬂu
.m_% % -0 #0 »0 »0 -0 @ »0 »0 »0 #0 »0 #0 =0 /0 ~0 »«0 «0 <0 »0 »0 «0
LERCE Y] v "W ¢ w x w8 2 4aa o F 69 E 2= & & 5§ g u_
~ |

«0 «0 «0 «0 =0 =0 =0 «0 «0 =+0 =+0 <O =d =0 =0 =0 =0
=0 =0 =0 =0 =0 =0 =0 <0 =0 =0 =0.=0 = =20 =0 =0
«wO =0 ~0O0 «0 «0 <=0 <0 g «0 =0 <=0 =0 =0 «0O =0 «=0 .Lu

=0 =0 =0 =0 =0 =0 =0 =0 =0 =0 =0 =0 =0 =0 =0 =0 =0

. ' . . . < - 4 - - v £ ~ = o
- [ o= - = = —_ — = — —_ - — —_—

20,

Sex:(Write M or F)

NA

 Bxample X

Answer Sheet fei DBDA (Revised)

 Example Y

o0 O «0 s0 o0 «O O «O O «O0 =0 s0O sO o0 «0 o0 <0 ep
-0 =0 =0 =0 =0 =0 =0 =0 =0 =0 =0 =0 =0 =0 =0 =0 =0 =0
o0 vO «0 «0 «vO <0 =0 «0 «0 0 0 <0 =0 «0 =0 =0 =0 o
0O =0 =0 =0 =0 =0 =0 ‘=0 =0 =0 =0 =0 =0 =0 =0 =0 =0 =0
<0 =0 =0 0 =0 =0 =0 =0 =0 =0 =0 =0 =0 =<0 =0 =0 =0 =0

——

VA Partl

Vxample X

386 b6

Example Y

AAEAS

COM

rsy
SERVIUES
Name:
Age:

- Copyrght £11993 MIs PSY-COMSERVICES. Allrightsreserved by the A= PEV.CON SFRVICES, B-d, 8002.5.) Enclave, New e

e % Wl 6w e o 2 = skl e e
“0 «0 +«0 +«0 +«0 «0 «0 0 0 <0 +0 «0 ..n.._u..u..n_unau&aum_\lﬁ.
un_wn_un_.u_uuuun._uuan_dnandmHdndndu&ﬂu.dnundﬂu_u__
0 “0 «0 v0 +0 0 <0 0 «0-«0 «0 £ o0 <0 +0 <0 0 «0 <0 0 0
20 0 20 20 <0 =0 =0 20 20 <0 =0 o =0 =0 20 =0 =0 =0.+8 =0 =0
auau.dm.nnaﬂau.n_nn.n.n.uVuannﬁ.u._uun.ﬁ...n.n
MEEEREE N 0

- —
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Answer Sheet for DBDA (Revised)

PSYXCOM
SERVICES

7 Tl - ~
_ J
g “
P
o
=
[« 4
S 1=
1 — =il 3
r @' |
..U_ =0 «0O =0 0 0 =0 «0 «0 «0 =0 «0 =0 W,.
.u.u"_ =0 =0 =0 =0 =0 =0 =0 =0 =0 =0 =0 =0 W
M tD_ 0 «0O «0 =0 =«O0 =«0 +0 «0 «0 «0 =0 =0
beD_h =<0 =0 =0 =0 =0 =0 =0 =0 o = 5
] gt 2|8 8§ £ £ 5.8 =
E =0 | =0 =0 =0 =0 =0 =0 =0 =0 =0 =0 =0 =0 CH IR o S
=
-~ ] __ = -1 - - v - - o = m = Mu /r !
|
mh =0 =0 =0 =0 =0 =20 20 =20 =0 =20 =0 =0 =0 =20 20 =20 =0 =20 =20 =0 =0 =0 =0 4
| “0 #0 »0 »0 «0 «0 «0 «0 »0 =0 <0 »0 «0 #0 «0 »0 #0 0 »0 #0 #0 «0 «0 =0 |
ﬂ_Mmﬂﬂn_ﬂ_ﬁmnmmmmmm..u.m.m,m.m.m.m.n.n_
i
- =0 a0 | =0 =20 =20 =0 =0 =0 =0 20 =20 =0 =0 =0 =0 =20 =0 a0 20 =0 =0 =0 =0 =0 =0 =0 |
5] LA SD"‘_ <0 «0 «0 «»0 «=0 «0O «0 «0 «0 =0 «»0 «0 =0 =0 «0 «0 «0 «»0 «0 =0 =0 =0 Sﬂ. =0 .-
w.xmulmnw.ﬂmuuuu._mmumw..mu.u.ﬂ.uﬁw.ﬂ.n
£ 20 20| =0 =0 =0 =0 =0 =0 =0 20 20 20 20 20 20 =0 =0 =20 =0 =20 =0 =0 =0 =0 =g =a I
Wﬁn_ »O =»0 »0 «0 «0 «0 «0 »0 »0 «0 «0 =0 »0 «»0 =0 =0 »0 =20 =»J «0 «0 «0 =0 «0 =0
PR v"_ s i 24 o i " = o o =1 = d ] = o £ = o 2 & 5 &8 3 mw.
|
O «O tuvﬂcﬂt..ﬂc_ueﬂ...ﬂrﬂfﬂ_.\nrﬂ.lﬂ:Drﬂcﬂrﬂeurnencneuo.ﬂatﬂutuﬁ
1
=0 -0 =0/ =0 =0 =0 =0 =0 =0 =0 =0 =0 =0 =0 =0 =0 =0 =0 =0 =0 =0 =0 =0 =0 =0 =0 =0 =0
< O 0 «0|.0 -0 .0 -0 «0 v0 «0 v0 «0 «0 «0 «0 <0 0 «0 0, «0 +0 +0 «0 <0 0 0 0 0
= :
. =0 _ 20 _ #Di=0 =0 <0 =0 =0 =0 <0 =0 =0 =0 =0 =0 =0 =0 =0 =0 =0 <0 <0 =0 =0 =0 =0 =0 =0
w..u.w.n.m._.u.nnun_un_an_nmnnn_unn_._n.n_.nnunnuuuni.n_nn_.n;nuuunnnnunu.&
Bl = & v % v & « o £ 2 8 =2 & @ @ =< S No s
— — ~ = -

'ES. Hed, 80/2. 8.1 Enclave. New Delhi-110029 Ph.: 610 6433
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DT Ability Graph Sheet for DBDA (Revised)
SERVICES
Name: Date:
Age: Sex:(Write Mor F): Occupation:
Sten CA CL MA NA PM RA SA VA Sten |
ScoreW WScore
10 ® O} O] O] ® @ ® ® 10
9 0] ® ® O] ® @ ® ® 9
8 ® @ ® ® ® ® ® @ 8
7 ® @ ® ® @ ® ® ® 7
6 ® ® ® ® ®© O] ® @ 6
5 ® ® ® ® ® @ ® ©" gl e
4 ® @ ® ® ® ® o} - HOSS
3 ® ® ® ® ® ® o [
i 5 “Er
2 @ ® ® ® ® o} ,wﬁ
1 ® ® ® O] ® ..,@5 i tn. i
Sten P )
Score Closure Clerical Mechanical Numerical Psychomotor Reasoning P
Sten 1-3 = Low Ability, Sten 4-7 = Average Ability, muo.__nambimaﬂﬁ.

- I T Vi e R )
Copyright © 1994, 2007 All rights reserved, by M/s PSY-COM SERVICES, B-4, 802, SJ Enclave, New Delhi = 110029 L
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